N X 3490

3490 % 3490 3490 % 3490 -Fuf if‘; B % ﬁ*ifzﬁg) if'zﬁzmm
65 8X420=3360 130 3360 3360 130 BXL420=3360 65 2 | gEikEs F12 23
A 3 | g F12 16
L RS F12 1.2+1.6
= 5 | gers F12 16
6 | fHEEd F12 12+1.6
IHEEE F12 23
8 | ponmieE F12 32
9 | tidm Y10 16
= < 10 |t Y10 16
Ay =N IHE3ES Y10 1.0
N 12 | 2 F12 1.0+3.2
~ 13 | R F12 1.0+3.2
15 - 14 | RHBRIR Y10 1.0
e 15 | FRAN— F12 23
16 | Bpan— Y10 0.7
& — 17 | BEDR F12 16
L 18 | BED F12 16+2.3
19 | BR/IRI Y10 0.5
o, W 20 | g@®EmN REM)BIE- [RUITFLYTa—A L0
m O 21 | BRI F12 0.1
b 22 | #iREs Y10 0.7
23 | s i Y10 0.7
2L | a-F—%8 F12 23
25| vy g— Z08 0.6
- 26 | Tvwe—nN— F12 0.1
; 27 | Y+vwvwI—L—Jb FIVIZ D ABEH UM
~ F12-5R B > *M\IRUIS G 3302)
X Y10~ BRER -5%FNI=DAEED > RIS G 3317)
> 708~ 2 EBREHD > X /RIS G 3312)
>
[\
4 4
T =
100 L8 AMREOSEO 3202 48] |48 3202 3202 48]| |48 AROSBEO 3202 48 100 =
I
9?2 9?2
N X 3490 +8
N X 3490 +160 6435
80 N X 3490 80 &0 6155 140
O
/ “L 1000 _
/ ‘ i B N
i |
l/
I/
© / N
~ / =
/ | P —
o 3 SN 2
U i g = o~
ml:_! // m o~
LGS / <) <)
= /
R = = 7 = = =
V E X i / — :
VGL // 0
NO.142 <HER> S=1/50

XIEDORFRLE ERKICISCTRMEYIE - T ABRADELLIEEAHYET .

5 12 &

HIELA

GR—210HL

~F BT~

OF#BANO T :%:3202 % 2118(mm)

OFREHENGERE] x 21.48mi(6.511F)

N3 25 FE B 8 1 PR



